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Revision in math – primary 3 – 2nd term 2016/2017 

Question 1 : choose the correct answer :  

1) 5+5+5 = 5 ×……                 (  15  ,  3  ,  2  , 5  ) 

2) 7× 4 =  4 × ……                               ( 7  ,  4  ,  6  ,  5 ) 

3) 3 × 9 =  ( 3× 5 ) + ( 3× ……)              ( 3  ,  4  ,  5  ,  6 ) 

4) 4 × …= (4 ×7 ) – (4 × 2 )                (  9  ,  7  ,  6  ,  5 ) 

5) 2 × 8 =   (  …× 5 )  +  ( 2 × 3 )    ( 8  ,  2  ,  3  ,  5  ) 

6) 4 × 8  = 4 × 7  + ……                     ( 4  , 7  ,  8  ,  9 ) 

7) 5 × 6 = 5 × 7  - ……                      ( 4  ,   6   ,  5   ,  7  ) 

8) 7 ×  ….= 9 ×  7                  ( 7  ,  8  ,  9  ,  10  ) 

9) 8 × 0  =  ……..                        ( 8  ,  1  ,  0  ,  2  ) 

10) 14 ×  1 = ………     (  14  ,  7  ,  1  , 140 ) 

11) 4 ×  …..  =   12       ( 6  ,  3  ,  9 ,  12 ) 

12)   ( 5 × 3 ) -  5  = ……             ( 10  ,  15  ,  20 , 50 ) 

13)   ( 2 + 8 )  ×  150  =  ………     ( 1500 ,  150 , 15 , 285  )  
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14) 96 hundreds = ………… tens        ( 9600 , 960 , 96 , 96 000 ) 

15) 8 + 8 + 8 +8 = ………          ( 8+4  , 8 ×3  , 4 × 8 , 8 ×5 )  

16) 6 +6 + 6 = …× 3               ( 666 , 3  ,  6 , 66 ) 

17) 4 × 0 × 6 = …………   ( 1  ,  24  , 406 , 0  )  

18) 3 × 4 = 2 × …          ( 12  , 6 , 7 , 8 ) 

19) 5 × 6 = 26 + ……           ( 3  , 4  ,  30  , 40 ) 

20) 2 × ……  = 3 × 6                    ( 9  , 8  ,  7  ,  6 ) 

21) 4 tens = ………         ( 14  , 400 , 40 , 4 ) 

22) 16 hundreds = ……… ( 160  , 16 tens , 1600 , 16 000 ) 

23) 5 × … = 10 × 5                 ( 5  , 8  , 9  ,  10 ) 

24) ( 3 + 4 ) × …… = 10 × 7           ( 10  ,  7  ,  3  ,  4  ) 

25) 3 × 70 = ………             ( 21 ,  2100 ,  210 , 120 ) 

26) 800 -  ( 20 × 5 ) = ……  ( 600  , 700 ,  100 ,  60 ) 

27) 10 + 10 = 10 × …          ( 10  ,  1  ,  0  ,  2 ) 

28) 60 tens = ……… ( 60  ,  600  , 6000 , 6 ) 

29) 4 tens + 5 tens = ………… ( 40  , 60  , 70  ,  90 ) 

30) Seventeen tens = ………       ( 17 , 170  , 1700 , 700 ) 
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31) Eighty tens = ……… ( 180 , 80  ,  800  ) 

32) 65 00 = ………… tens        ( 65  , 6500  , 650 , 65000 ) 

33) 6 × 100 = ……….. ( 1005  , 500 , 60 , 600 ) 

34) 7 metres = ……….cm    ( 700 , 70  , 7000 , 7 ) 

35) ….. metres = 65 00 cm         ( 650 , 65 , 56 , 560 ) 

36)  15 pounds = …….piastres  ( 150  , 15  ,  1500 , 10 ) 

37) ……. Pounds = P . T 10 000   ( 10  , 100 , 1000 ,  1 ) 

38) 800 × 10 = 80 × ……             ( 100 ,  10  ,  1000 ,  1 ) 

39) 640 hundreds = …….. thousands ( 640  , 64  , 6400 , 64000 ) 

40) 50 × 70 = ………       ( 7500 , 6200 , 3500 , 350 ) 

41) 900 tens = 90 × …………  ( 10 , 100 ,  1000 ,  1 ) 

42) 10 × 100 = …….. hundreds      ( 1  , 100 , 1000 , 10 ) 

43) 30 ×  60 = ………hundreds     ( 18  ,  180  ,  1800 , 18 000 ) 

44) 30 × 20 × 100 = ………… × 10   ( 6000 , 600 , 60 , 60000 ) 

45) 800 cetimetres = ………m   ( 80  , 18  , 180 , 8 ) 

46) 7 thousand = ………tens         ( 7 , 70  , 700 , 7000 ) 

47) 5 kilograms = ………gm   ( 5  ,  50  , 500 , 5000 ) 
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48) 5 × 1000 = ………hundreds     ( 5  ,  50  ,  500  ,  5000 ) 

49) 16 thousands = ……× 1000   ( 160  , 1600  , 16 000 ,  16 ) 

50) Eighteen thousands = ……… tens     ( 800 , 1800 , 180 , 8000 ) 

51) 30 × 800 = ……           ( 24  ,  240  , 2400 , 24 000 ) 

52) 40 × ………=  4000       ( 10  , 100 ,  1000 , 10000 ) 

53) 800 tens = ………Thousands    ( 8000 , 800  , 80  ,  8 ) 

54) 95 000 = ………… hundreds   ( 950  ,  9500 , 95 000 , 95 ) 

55) 10 km = ………metres       ( 1000 , 10 000  , 10  , 100 ) 

56) ………km = 5000 metres  ( 5 , 50 , 500 , 5 000 ) 

57) 25 × 3 = ……  ( 105  , 253  , 750 , 75 ) 

58) 4000 × 3 = ……( 1200  , 12 000 , 120 , 12 ) 

59) 12 × 3 = ……… ( 123  , 32  , 35  , 36 ) 

60) 12 thousands ……120 hundreds    ( <   ,   >   , =  )  

61)  6 × ……… = 24 000           ( 4  ,  40  ,  400  ,  4000 ) 

62) ………is an even number  (  31  , 65  , 887  , 10  ) 

63)  125 × 3 = ………         ( 250 , 375 , 625 , 325 ) 

64) 3 ×  8 × 125 = ……  ( 1000 ,  10  , 100 , 10000 ) 
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65) 2 × 17 × 5  = …………  ( 340  , 17 000 , 170 , 10 ) 

66) 6 × 8 × … = 48 000      ( 10  ,  100  , 1  , 1000 ) 

67) 1032 ×  4 =…………( 5228  , 2885  ,  4128  ,  4234  ) 

68) 122 ×  4 = ………… ( 422  , 48  ,  488  ,  8963 )  

69) 8 × 700 = …  ( 65 00 , 56 00 , 530 , 5420 ) 

70) 3 × 1000 = 30 × …………  ( 10  ,  1000  ,  1  ,  100  ) 

  




